Mr Bird’s group’s homework		24.9.21
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1) 3001-355
2)3456 – 936
3) 9345+ 345
4) 3405 + _____ = 9348
5) 9855 - ______= 3567

1) 3 x 4
2) 5 x 6
3) 6 x7
4) 9 x 7
5) 9 x 9
6) 5 x 9
7) 7 x 4
[bookmark: _GoBack]8) 6 x 6
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° a) Circle the numbers that round to 650 when rounded to the
nearest 10

653 655 645 545 648 641

b) Circle the numbers that round to 5,400 when rounded to the
nearest 100

5,430 5,450 5,380 5,340 5,425 5,325
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Complete the table.

Number

3,561

9,730

21,075

903

Rounded to the
nearest 10

Rounded to the
nearest 100

Rounded to the
nearest 1,000





